X =15 x =0.5

Solve for x Solve for x

2X+7=8 6xX—5 =61

x =11 xX=17

Solve for x Solve for x

13—x=-4 4x +1 =65




X =35
Solve for x Solve for x

2x+3=10 |4+3x=10

X =2 X=7

Solve for x Solve for x

13=4x-15 | |13x+3 =42




X =3 x =10

Solve for x Solve for x

2Bx1)=58 |3(2x:1)=6

X =4 X =7

Solve for x Solve for x

4x—1=-29 2(5+2x) = 28




x=4.5

Solve for x Solve for x

Sx-7=2x+20 | P(AF10)=Sx+6

x=12 X =4

Solve for x Solve for x

2x-4=-12 | 5x-10=-8




xX=2/5=04
Solve for x Solve for x
-3 +2x=12 + 5x 2X e
4

x=4/5=0.8
_ Queston | |  Question |
Solve for x Solve for x
S, | 2R
> —




